STRUCTURAL GENERAL NOTES

CODE

OREGON STRUCTURAL SPECIALTY CODE, 1998 EOQITION
LOADS

SMOW LOAD 23 PSF + DRIFT

ROOF DEAD LOAD 7.5 PSF

SEISMIC ZONE 3

WIND g0 MPH EXPOSURE O

WIND UPLIFT 10.5 PsF
ALUMINUM

1. ALUMINUM TO BE TYPE BOB3-T3.

GLAZING

10T MUST PASS ANSI-Z57.1 TEST FOR SAFETY GLAZING MATERIALS.

2. 1T MUST HAVE A FLEXURAL STRENGTH OF 15000 PS|
ACCORDING TO TEST METHOD ASTM D—790 FOR A
SHEET THICKNESS 0OF 1257,

FIELD VERIFY

1, VERIFY EXISTING BUILDING HAS ADEQUATE STRENGTH TO
RESIST THE ADDITIONAL LOADS FROM THE PATIO COVER.




14'-0"

o= 120" L2 =0
— _ ™
/o I
f !i
i ;: \\\—ANGDEED ALUMINUM POST
b ]
i I
5% — ! N—3/16"
i } GLAZING (TYP.)
- = o i s
4. i o 2
EXISTNG HOUSE I 52 %
STRUCTURE - \SKT) 35 .
L e - - ¥
7 : R
45 | w~© L =
// . T = = 8 :'-'IJ
/'/.- & H i = - )
e j Kot
//.-' -— - }i ] S "
// I \ =
A N ANODIZED ALUMINUN - ©
B § |—~BEAM
/ : ™
d 1
/ e —

10 PLAN VIEW

&2/ - -




" "W" = 10'=0" MIN., 40'-0" MAX
“ 5'—4" 0O.C. MAX. “

: EQUALLY SPACED |
/16" GLAZING

‘ ; \ 6" ALUMINUM
KNEE BRACE—— I—BEAM BEYOND
AMGLE 1 'l,.l"IEHX T.0. BEAM
11/2"%1/8" WITH }-/- ------ ——-;*—/'/E[—~-~]‘_1:-"5-;--jj"""i?r---\;j e —
(2) #10 SCREWS | B.0. BEA! L
EACH END. COPE 2 Nﬂ/ \JV — =
ANGLE AND BEND =
ONE LEG i

T o

ANODIZED 3,
ALUMINUM POST N o
EXISTING - T
CONCRETE SLAB \

L *_

/1 FRONT ELEVATION
&3/ /e - vo




3"
MAX. /_—szf-mr; (TYP)
T.0. EXISTING ROOM
> e

|
b

I MAX, T

EXIZTING HOUSE

1.0, BEAM |
STRUCTURE ANCDIZED

ALUMINUM POST |
T
i? o |

&

,.-"" i
A A
e \
EXISTING CONCRETE

SLAR

/ 1\ END ELEVATION
w 1/4" = 1'=0"




CONTIMNUOUS TRACK-- SIZE TO
MATCH RAFTER

m:am#,’rT‘\

Fﬂ:zDD#g’FTI

RAFTER @ 2'-0" O.C.

F:EE#;’F/?/{

PLUG @ BENT RAFTER W,/ (2) HILTI
CRILL FLEX 12-14 FASTEMERS, ONE TOf
ONE BOTTOM —-TYFICAL

BENT RAFTER

CONTINUOUS TRACK—~- ATTACH TO
EXISTING WOOD STRUCTURE W/ #10
SCREWS @ 8" 0.C. W/ 1-1/2" MIN,
PENETRATION INTO EXISTING FRAMING,
SEE DETAIL 1/SK6 FOR LOCATION OF
SCREWS—— TYP.

/1 SECTION @ MOMENT FRAME
&5/ - o




PLATE OR EXISTING BUILDING

CONTINUOUS TRACK W/ #10 SCREWS
@ 8" 0.C.——TYPICAL

/1 CONNECTION @ SILL & HEAD
w 1™ = 1'-0"




PLASTIC WEDGE

B" ALUMINUM 1—BEAM
Swx = 1.87 IN'
lxx = 561 IN'

ALUMINUM |—BEAM
BRACKET BEYOND-— DIE
#26060 AS MANUFACTURED
BY AMODIZING INC.

(4) 1 1/4" LONG #10

SCREWS @ 2" SF‘AEINGK

-1 1/4" LONG #10 SCREW

/'{‘*3' | 1/4" LONG §10 SCREWS © 2" SPACING

ANCDIZED ALUMINUM POST

Sxx = D.BDE IN?
lvx = 0.959 [N*
A= 1.120 IN®

ALUMINUM BOTTOM BRACKET BEYOMD

{2) 1/2" DA, EPOXY ANCHORS
EXISTING CONCRETE SLAR

/1 SECTION

TYPICAL WALL THICKMESS 0.187"

ALUMINUM SECTION-—

Sx o= 1.76 IN
v = 3.53 IN'
MOTE: EXACT CONFIGURATION OF

RAFTERS HY ALUMINUM EXTRUSION
MANUFACTURER -~ PROVIDE SECTICN
FROPERTIES AS NOTED ABOVE




